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1. O s the centre of the circle. If LGOIl = 76°, find LF

(i) 48° (ii) 38° (iii) 53° (iv) 68° (v) 43°

2. O s the centre of the circle. If £JLK =57° and 4ZLJM = 53°, find y°, z°
L

J
(i) 37°,33° (ii) 27°,33° (iii) 67° 53° (iv) 47°,43° (v) 33°, 37°
3. O s the centre of the circle. If £JKL = 115°, find LZLOM

J

L

(i) 55° (ii) 60° (iii) 80° (iv) 65° (v) 50°



4. O is the centre of the circle and £LFCE = 32°, find LCDE
E

(i) 132° (ii) 137° (iii) 127° (iv) 122° (v) 152°

5. O is the centre of the circle. If LZECF = 37° and £CED = 18°, find £DCE

(i) 40° (ii) 45° (iii) 50°

(iv) 65° (v) 35°
6.

In the given figure, O is the centre of the circle and EH is a diameter. If ZEHI = 59° and £ZFHG = 34°, find LHEG
E F

34.:-

"f':ﬁ’e

! H
(i) 40° (ii) 55° (iii) 30° (iv) 25° (v) 35°



In the given figure, O is the centre of the circle and chord DE is equal to chord EF and EH is a diameter. If ZDHE =
" 31°, find LHGF

(i) 131° (i) 126° (iii) 151° (iv) 121° (v) 136°

In the given figure, O is the centre of the circle and chord JK is equal to chord KL and KN is a diameter. If ZNJO =
" 22°and LLMN = 112°, find £)JKL

(i) 166° (ii) 146° (iii)) 136° (iv) 141° (v) 151°

In the given figure, O is the centre of the circle , chord BC is equal to chord CD and AC is a diameter. If ZDAC =

" 42° find £BCD

D

B

(i) 111° (i) 126° (iii) 106° (iv) 101° (v) 96°



In the given figure, O is the centre of the circle , chord CF is equal to chord FE. If LZCOD = 84° and 4LCFE = 115°,
" find LDEF

E
Mo

(i) 74.5° (ii) 79.5° (iii) 84.5° (iv) 104.5° (v) 89.5°

11. In the given figure, O is the centre of the circle. If ZFOG = 94° and £GHJ = 75°, find LIFO

(i) 62° (ii) 47° (iii) 32° (iv) 42° (v) 37°

12. In the given figure, O is the centre of the circle. If ZBOC = 76° and £CDF = 108°, find LEBO

(i) 71° (ii) 66° (iii) 61° (iv) 56° (v) 86°



13. In the given figure, O is the centre of the circle. If ZGEF = 52° and £CDG = 84°, find LEGF
F

(i) 54° (ii) 59° (iii) 49° (iv) 74° (v) 44°

14. In the given figure, O is the centre of the circle. If ZI)JM = 95°, find £KLM
K

M

(i) 95° (ii) 105° (iii) 110° (iv) 125° (v) 100°

15. In the given figure, O is the centre of the circle. If LHIF = 74°, find £FGH
F

(i) 136° (ii) 106° (iii)) 111° (iv) 116° (v) 121°



16. In the given figure, O is the centre of the circle and CF is a diameter. If LZEFB = 88° and £BCF = 64°, find £LCDE

(i) 128° (i) 123° (iii) 133° (iv) 118° (v) 148°

17. In the given figure, O is the centre of the circle and BE is a diameter. If ZCDE = 124°, find LCAB

(i) e64° (i) 34° (iii) 44° (iv) 49° (v) 39°

18. In the given figure, O is the centre of the circle. If ZBCD = 126°, find £DOB + 4BAD

(i) 311° (ii) 316° (iii) 321° (iv) 306° (v) 336°



19. In the given figure, O is the centre of the circle. If ZIJM = 112° and £)JKL = 117°, find £ZKNL

M

(i) 79° (ii) 59° (iii) 64° (iv) 49° (v) 54°

20. In the given figure, O is the centre of the circle . If LZEHF = 73° and LEDG = 66°, find 4£DIE
G

(i) 35° (ii) 30° (iii) 40° (iv) 55° (v) 25°

In the given figure, O is the centre and FJ is a diameter of the circle and chord FG is equal to chord I). If LGEI =

21. .
36°, find £ZIE) + £GHI

F

(i) 181° (ii) 186° (iii) 171° (iv) 176° (v) 201°



22. In the given figure, O is the centre of the circle. If ZHFG = 52°, find reflex ZGOE

il
F

(i) 266° (i) 271° (iii) 256° (iv) 286° (v) 261°

In the given figure, a pentagon is inscribed in a circle with centre O. Given HI = 1) = JK and ZHIJ = 136°. Find

23 LHGI

(i) 22° (ii) 37° (iii) 52° (iv) 27° (v) 32°

24 In the given figure, a pentagon is inscribed in a circle with centre O. Given I = JK = KL and ZIJK = 102°. Find
" LIHL

(i) 117° (ii) 147° (iii) 127° (iv) 132° (v) 122°



In the given figure, a pentagon is inscribed in a circle with centre O. Given CD = DE = EF and £CDE = 116°. Find

25.
LEOF

(i) 94° (ii) 64° (iii) 79° (iv) 74° (v) 69°

In the given figure, a hexagon is inscribed in a circle with centre O. Given BC = CD = DE and ZEFG = 123.73°.
" Find 4BFG

E

\_

Gc

(i) 33.73° (ii) 43.73° (iii) 63.73° (iv) 48.73° (v) 38.73°

In the given figure, a hexagon is inscribed in a circle with centre O. Given I} = JK = KL and ZLMN = 139.09°. Find
£LNIJ

27.

(i) 115.91° (ii) 110.91° (iii) 130.91° (iv) 100.91° (v) 105.91°



In the given figure, a pentagon is inscribed in a circle with centre O. Given AB = BC = CD , £ZBCD = 103° and
" LEAB = 111°. Find LABC
B

28

(i) 103° (i) 118° (iii) 113° (iv) 133° (v) 108°

In the given figure, a pentagon is inscribed in a circle with centre O. Given AB = BC = CD , £BCD = 112° and

29. LEAB = 116°. Find £LCDE

(i) 98° (ii) 113° (iii) 103° (iv) 128° (v) 108°

In the given figure, a pentagon is inscribed in a circle with centre O. Given AB = BC = CD , £BCD = 102° and

30. LEAB = 104°. Find LAED

(i) 147° (i) 122° (iii) 117° (iv) 127° (v) 132°



In the given figure, a pentagon is inscribed in a circle with centre O. Given AB = BC = CD , £ZBCD = 113° and

31.
LEAB = 115°. Find LEAD

E

(i) 58° (ii) 78° (iii) 63° (iv) 48° (v) 53°

32. In the given figure, O is the centre of the circle. Hl is a diameter of the circle and JK is equal to radius. Find £ZHLI

L

(i) 90° (ii) 75° (iii) 60° (iv) 65° (v) 70°



33. In the given figure, O is the centre of the circle. If ZHKI = 76° and £HGJ = 66°, find £GJI

L

(i) 43° (ii) 38° (iii) 53° (iv) 48° (v) 68°

34. Which of the following statements are true?

a) A cyclic quadrilateral is a regular polygon.
b) If a parallelogram is cyclic, it is a rectangle.

)

)
c) If a kite is cyclic, it is a square.
d) If a trapezium is cyclic, it is a rectangle.
)

e) If a rhombus is cyclic, it is a square.

(i) {d,a,b} (ii) {a,b} (iii) {c,e,b} (iv) {c,e} (v) {b,e}

35. Which of the following are cyclic quadrilaterals?

a) rectangle

b) rhombus

c) parallelogram
d) trapezium

e) square

f) triangle

(i) {d,f,a} (i) {b,a} (iii) {a,e} (iv) {b,e,a} (v) {c,e}

36. Which of the following statements are true?

a) If a circle can be inscribed in a quadrilateral, it must be a kite.
b
C

)
) It is always possible to inscribe a circle in a regular polygon.

) It is always possible to inscribe a circle in a quadrilateral.

d) If a circle can be inscribed in a quadrilateral, the sum of the lengths of a pair of opposite sides is equal to the
other pair.

e) If a circle can be inscribed in a quadrilateral, then it must be a square.

(i) {c,d,b} (i) {b,d} (ii) {a,b} (iv) {eab} (v) {cd}



37. Which of the following statements are true?

a) Angles subtended by equal length arcs in two circles are equal.

c) Angles in the opposite segments are complementary.

)
b) Angles in the same segment are equal.
)
d) Angles in the opposite segments are supplementary.

(i) {a,c,b} (ii) {c,d} (ii) {b,d} (iv) {a,b} (v) {a,d,b}

38. The opposite angles in a cyclic quadrilateral are

(i) linear pair (ii) equal (iii) supplementary (iv) complementary

39. In the given figure, KLMN is cyclic quadrilateral. If ZLMN = 82°, find £JKN

N
o
N
(i) 112° (i) 92° (iii) 87° (iv) 82° (v) 97°

40. In the given figure, O is the centre of the circle. If £1JO = 28° and £OLI = 28°, find £JKL
K ]

(i) 139° (i) 129° (iii) 134° (iv) 154° (v) 124°



41. In the given figure, O is the centre of the circle. If ZHIO = 40° and £LOKH = 15°, find £IOK

(i) 120° (i) 125° (iii) 115° (iv) 140° (v) 110°

42. In the given figure, ABCD is a cyclic quadrilateral. If ZACB = 39° and £CDB = 50°, find LABC

(i) 96° (ii) 91° (iii) 101° (iv) 106° (v) 121°

43. In the given figure, CDEF is a cyclic quadrilateral. If LZCED = 37° and LEFD = 50°, find £CFE

(i) 97° (ii) 87° (iii) 92° (iv) 102° (v) 117°

44. In the given figure, ABCDEF is a regular hexagon. Find £LACB

(iv) 40° (v) 60°




45. In the given figure, EFGHI]J is a regular hexagon. Find ZEHG
! H

E F

(i) 60° (ii) 90° (iii) 70° (iv) 65° (v) 75°

46. In the given figure, BCDE is a cyclic quadrilateral. If ZBCE = 71° and £CDB = 46°, find LCDE
B

E
(i) 117° (ii) 122° (iii) 132° (iv) 127° (v) 147°
In the given figure, 1) , JK, KL and LM are chords and IL , JM are diameters passing through the centre O. If £LI0) =

" 51°. Find LKL
L K

(i) 125.5° (ii) 145.5° (iii) 130.5° (iv) 120.5° (v) 115.5°



In the given figure, IJKLMN is a regular hexagon inscribed in a circle with centre O. Which of the following are

48. true?
a) LION = 60°
b) £JOL = 120°
) ZJMK = 30°
d) LNLK = 90°
e) LIK] = 60°

(i) {e,a} (i) {e,d,a} (i) {eb} (iv) {ab,c,d} (v) {ec}

49. In the given figure, EFGHI is a regular pentagon . Find ZEIG

H
QG
E F

(i) 87° (ii) 72° (iii) 82° (iv) 77° (v) 102°

50. In the given figure, CE is a chord which is equal to the radius of the circle. Find £F and 4D

(i) 45° & 135° (ii) 40° & 140° (iii) 50° & 130° (iv) 60° & 120° (v) 30° & 150°



In the given figure, BCDF is a cyclic quadrilateral where CD and CB are produced to E and A respectively. If ZABF

oL = 89°, find LEDF

C
(i) 101° (ii) 121° (iii) 106° (iv) 91° (v) 96°
52. In the given figure, LD =53°, LG =72° and £H = 121°, find £LGEF
H
G

171 72°

53°

D E F

(i) 81° (ii) 71° (iii) 76° (iv) 96° (v) 66°

53. Which of the following statements are true?

a) A cyclic rhombus is a square.
b) A cyclic parallelogram is a rectangle.

)
)
c) A cyclic trapezium is a rectangle.
d) A cyclic kite is a square.

)

e) A cyclic parallelogram is a rhombus.

(i) {d,b} (ii) {e,c,a} (iii) {c,a} (iv) {a,b} (v) {d,b,a}

54. Which of the following statements are true?

a) A quadrilateral in which the diagonals are equal and bisect each other is cyclic.

b) Either pair of opposite angles of a cyclic quadrilateral are supplementary.

C) An isosceles trapezium is cyclic.

d) The exterior angle of a quadrilateral and its interior opposite angle are supplementary.
e) All parallelograms are cyclic.

(i) {e,b} (i) {d,e,c} (i) {d,a,b} (iv) {a,b,c} (v) {d.a}



55. Which of the following are not cyclic quadrilaterals?

a) kite

b

)

) rhombus
C) rectangle
)

)

d) square
e) isosceles trapezium

(i) {d,b} (i) {d,b,a} (iii) {e,c,a} (iv) {c,a} (v) {a,b}

56. If ABCD is a cyclic quadrilateral and LA — £C = 60°, then £C
(i) 70° (ii) 65° (iii) 60° (iv) 75° (v) 90°

57. If CDEF is a cyclic parallelogram, then £ZF
(i) 120° (ii) 105° (iii) 95° (iv) 90° (v) 100°

58. In the given figure, which of the following angle pairs are equal?

(i) {(c,h).(d,9).(e.j).(FD)} (i) {(j.h).(g.).(e,f).(c,d)} (i) {(h,j)(f.d).(ei).(g,c)} (iv) {(h,i).(cj).(d.e)(f.g)}
(v) {(h,c),(f.9).(ie),(jd)}

59. DEFGHI is a hexagon inscribed in a circle. Given £LDEF = 130° & £ZFGH = 124°, find £HID

(i) 111° (i) 116° (iii) 106° (iv) 136° (v) 121°



60. In the given figure, HIJK is a parallelogram. The circumcircle of AHIJ cuts JK at L. Given £ZHKL = 77°, find £ZKHL
K L J

Az

(i) 26° (ii) 36° (iii) 56° (iv) 41° (v) 31°

In the given figure, NL and OK are two lines passing through the points of intersection of the two circles at M and
" J.If LONM = 97°, find £LMLK

N
0
J

(i) 98° (ii) 83° (iii) 93° (iv) 88° (v) 113°

K

62. In the given figure, find the angles of the quadrilateral.

(i) H=96°,1=90°,)=84°,K=90° (ii) H=95°,1=90°,)=85°,K=90° (iii) H=97°,1=90°,)=83°,K=90°

(iv) H=93°,1=90°,)=87°,K=90° (v) H=94°,1=90°,]=86°,K=90°



63. In the given figure, find the remaining angles of the quadrilateral.

(i) C=83°,D=92° (ii) C=82°,D=91° (iii)j C=86°,D=95° (iv) C=85°,D=94° (v) C=84°,D=93°

64. In the given figure, DE & EA are equal length chords, AC and BD are diameters. Given ZOEA = 59° find, LOBC

D
c

B

(i) 43° (ii) 38° (iii) 58° (iv) 33° (v) 28°

65. In the given figure, £LOIH = 20° & £LGFE = 52°, find LOHE

(i) 54° (ii) 44° (iii) 49° (iv) 74° (v) 59°



Assignment Key

1) (i) 2) (v) 3) (v) 4) (iv) 5) (v) 6) (iv)

7) (iv) 8) (iii) 9) (v) 10) (i) 11) (iii) 12) (iv)
13) (v) 14) (i) 15) (ii) 16) (iv) 17) (ii) 18) (iv)
19) (iv) 20) (v) 21) (iii) 22) (iii) 23) (i) 24) (i)

25) (ii) 26) (i) 27) (iv) 28) (i) 29) (i) 30) (iii)
31) (iv) 32) (iii) 33) (ii) 34) (v) 35) (iii) 36) (ii)
37) (iii) 38) (iii) 39) (iv) 40) (v) 41) (v) 42) (ii)
43) (ii) 44) (iii) 45) (i) 46) (i) 47) (v) 48) (iv)
49) (ii) 50) (v) 51) (iv) 52) (v) 53) (iv) 54) (iv)
55) (v) 56) (iii) 57) (iv) 58) (i) 59) (iii) 60) (i)

61) (ii) 62) (ii) 63) (v) 64) (v) 65) (ii)
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